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Choose the correct answer of the following guestions:

1)

lim(sinx +cosx) =

x >Z

© 75

(d) Does not exist

lim(—7x cotx) =
X —0

(b) -3

(0) =

(c) 6

X } =—1 then

limf (x) =

(b) 1

— () 2

x —0 sin 3X

(a) 2

(c) 6
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If Iim3f (x)=6, limg(x)=-3, Iirr;h(x)zl, then

X —>3

Iim[f (x)g(x)}
x—>3|  2h(x)

@ -9 (b) 9 (©) 18 (d) -18

2X +1 ; x >2

If f (x)= , then Iimf (x) =
) {x2+1 X <2 X —2 )

(@ 3 (b) 5 (c) 1 (d) Does not exist

(d) Does not exist

X% -1 .
_ ifx =1 _
The function f (X) =1 x -1 IS continuous at x =1.
2x?2  if x =1

(@) True (b) False

X +Xx3+4x*
lim > =
x—wo ] —X*° —2X

@) 2 (b) -2

] ’\/2X2 —1
lim—"— — —
X —>0 X —6

@) 1 () 2

Iim(m—x):

X —>o0

(@) 4 (0) 0 ©) 2 (d) 2

X +1 .

The vertical asymptote of the graph of the function y = w5 IS

(@ x=1 (b) y=1 (c) x=5 (d) y=5
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X +1 .
X _5 IS
(@) x=1 (b) y=1 (€) x =5 (d) y=5

The horizontal asymptote of the graph of the function y =

Any rational function is continuous on IR = (—oo, o0) .
(@) True (b) False

lim sin(9x) _

x —0 3%

@ 3 (b) 9 © 5 (d) Does not exist

f(x)= 4x if x =2 lim f
T1x  if x =2 then NIMTO)=

(@ 4 (b) ¥ (c) 8 (d) Does not exist

24 if x =2

) CX ) ) )
The function T (X) = . is continuous on R if ¢ =
2X if x =2

(@) 3 (b) 2 © 1 (d) 4

If y=ve theny'=
1

(@) & ® 55 |01

An equation for tangent line to y =x? at the point (1,1) is
(@ x-2y=-3 |(b) x+2y =1 () 2x -y =-3

If f(x)=secx then f "(x)=
(a) secx(sec’ x+tan’x) | (b) secx (c) secxtanx |(d) secx(sec’ x—tan®x)

The n™ derivative , f ™ (x ) of the function f (x)=xe* is
(@ e (b) e*(x+n) (c) e*(x—n) (d) (x+n)
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If y=x3/x then

dy

dx

3Vx
(a) 1

33/x
(b) =~

cosfd—1
(%

lim

6—0

0]

(@) True

(b) False

If y=e*cotx then y’'=

(d) e* (csc®x —cotx)

(@) cotx —csc®x | (b) e* (cotx —csc®x)

The 27" derivative of sinx is

(d) f ®(x)=—cosx

@ f@x)=sinx [(b) f®(x)=cosx |(C) f ) (x)=-sinx

sinx

The derivative f '(x) for the function f (x)=—— is
X

COSX —SinX

CoSX
(@ =~ :
X

2X sinX —X 2 cos X
> | 2

X 2cosx —2X sinx
X (0) X"~

X

(d)

Why the graph of the following function is discontinuous at x=1

(@) f (yundefined

(d)limf (x)=f @)

(c) limf (<) = ()

(b) limf (x) = limf (x)
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